BIC

5x10°

log[ Relative Probability ]

Window Half—Width (km/s)

2x108

108

2x10°

5

10

10*

1000

100

rm343 x>/ (408109—5127)=2.860
F— — - ~ - - 1 T ' T T T T T T T T T T T T T3
BIC 1218924.75 ABIC 0.000 AlogP 0.0000

I X% 1152687.50 Ax?> 0.000 AlogP 0.0000 ]

= — - == - - - - - - - - - - = = —

I 5127 ]

A

L L 1 L L L L 1 L L L L 1 L L L L 1 L L L L 1

10 15 20 25 30
30 iterations
rm343

X%/ (408109—5127)=2.860
i

BIC 1218924.75 ABIC 0.000 AlogP 0.0000

rm343

Fe2 144% 221+128 km/s
BLR 5270 NLR 900 km/s

30 iterations

BIC

BLR

NLR

| Fell

kdh1 12-0ct-2021 03:19



